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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—@— ECO
5000 A
4000 +
3000 -
arning: col ['FVOEC'] is missing
2000 A
0 10 20 30 40 50
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Trend plot forP3-11_0
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24.

24,

23.

26.

25.

25.

24.

24.

23.

27.

27.

26.

26.

25.

25.

m=605, FV0=0

—0—

M_w

605

6%0 6i5
m=805,n FV0=0

—0—

M_W

805

8%0 8%5
m=975,n FV0=0

——

="

M_W

975

980 985

26.

25.

25.

24,

24,

23.

26.

26.

25.

25.

24.

24.

m=695, FV0=0

——

MW

655

T T
660 665

m=845,m FV0=0

—0—

M_W

845

850 855

26.

25.

25.

24.

24,

23.

26.

26.

25.

25.

24.

24

m=710, FV0=0

—— MW

710

7%5 7é0
m=890,n FV0=0

—— MW

890

895 900
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P3-11

BflE) | GEBRTK (30) | EBE (EH/EK) | XS e

07:05 294 150.0 |Z=| 1Ri%e07:05 Bz (KAL)
07:30 294 150.0 |Z=| 1Ri%e07:30 Bzh (RFMERESE)
09:05 294 150.0 BE| 1Ri%e09:05 B (KRFERSE)
09:55 294 150.0 RS {Ri&e09:55 Hzi (REMERE)
10:40 294 150.0 BE| 1Ri%e10:40 B (REERER)
11:25 294 150.0 BS| 1Riget11:25 Bz CGREERESE)
12:10 294 150.0 RE| Ri%e12:10 B (GREEREE)
12:45 294 150.0 | BE| {Rig%@12:45 Bl CGRAMEESE)
13:25 294 150.0 BE| 1Rige13:25 Bzh (GREERESE)
14:15 294 150.0 (ZZ=| 1Ri&e14:15 Bzh CGRAERSE)
15:55 294 150.0 |Z=| 1Ri&e15:55 Bzh (RFMERESE)
23T 3234.0 (11.%) 1650. 0 #2333 %EC: 2080.0, PH: 6.0

FEREHEME STEAEARST (191.0 : 153.0), AIEEAT—@E XAHE5
ZRINSEBRIEBE153. 0 ml.

REREMREC (2410.0) 5i%FEEC (2000.0) REK K, BFRE
HEEJRECE (2410.0 vs 3499.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=48 (2025-05-20)

150 A

100 A

50

(¢
200 -

150 A

100 A

a1
o
!

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1900

1528
04 1200 20256

80
Warning: lcol [FVI',| "FVO’'] missing 146

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

300 4 By lni
200 -

100 A

O_EO’TL'

—— e o e e

T
N
o
o
o

- 1000

@D50 01:45: ET=1720 Fg=2400.0 Ro=622.0 #2000

- 2000

- 1000

FRV (ml d-1)

-------------------------- il snfenfeniiond _siesiesiy el sty oSt s 5 s i s i ————————— i i ————— 25 w

cumET (ml/plant)

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 | % | ® | ® | | | % | ® | ® | | m | w | w | ® | m | m | ® [ ® | | m | m | % [ % | M | 3000

200 - e ®

& —e—©
100 - I| I/ ! - 1000

0_:’ 22 1
0 2 3

ByEt @D48 18:36: ET=1565 Fg=1848. 0 Ro=nan

- 2000

cumET (ml/plant)

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

==}
I

0 B | B | B5 [BF | M | | HR B | M | B | HR [BF | M | B [BZ[(XZ |2 |23z | B |EX[ZX[(FZT 3000 5

1 c
ByWqu @D50 01:45: ET=1256 Fg=1650.0 Ro=445.0 -g

200 - ] - 2000 >
1 e e e e e E
| 4 23— :

100 - : - 1000
) — 3
1 - e

10_:’ . — E— 0

' 0 | 1 | 2] 3] 45 6 78] 9 1o 11121314 ][15]16]17] 18] 19 ]2 [ 21223

ogl B | B | B [8F | [iF | B [Z=| B (BB | B [iB | B |6 |2Z[(ZF|25 (25|25 B | B [ZR|25(25

0.6

0.4

0.2 -

0.0

1500 — | t

K ’W‘ ® VP

[ ] | _obs
—@— PPFD obs

—— RH
(] RH_obs
RHo_obs




m=445, FV0=0 m=530, FV0=0 m=610, FV0=0

—&— ME —&— ME —0— ME —— ME
21.0 ~ 20. 5 - 20. 75 A
20. 0 A
.0+ 20. 25 -
20.0 - 19.5 209
20. 00 A
19.5 4
19. 9 + 19. 75 -
19.0 - 19.01
19. 50 A
18.5 - T T T T T T T T T T T T
600 800 1000 445 450 455 550 555 560 610 615 620
m=660,m FV0=0 m=710,m FV0=0 m=765,m FV0=0 m=825,m FV0=0
21. 25 A
21. 00 21.0 1
20. 75 - 21.00 A
20. 75 A
20,50 20. 75 4 20,5 |
20. 50 A
20. 25 20. 50 A
20. 25 A
20. 00 + 20. 25 A 20.0
20. 00 -
19. 75 20. 00 A
19. 75 H i
T T T T T T 19.75 1 T T T 19:5 T T T
660 665 670 710 715 720 765 770 775 825 830 835
m=940,m FV0=0 m m=445,m FV0=0 m=550,m FV0=0
945 - 25.5 1
] —-@— ME | —@— MW ’ —-@— MW —-@— MW
21.0 26
24.0 - 25.0 A
25
20.5 23.5 24.5
24 230 4 24. 0 A
20.0
23 ~ 29 5 - 23.5 A
19.5 ~ 22 + 22.0 23.0
940 945 950 600 800 1000 445 450 455 550 555 560
m=610,m FV0=0 m=660,m FV0=0 m=710,m FV0=0 m=7695,m FV0=0
26.0
-@— MW 26. 0 A -— MW 26. 0 -0— MW 26. 0 - -@— MW
25.5 A
25.5 A 25.5 A 25 5 -
25.0
25.0 25.0 1 25.0 -
24. 5 A
24. 5 A 24. 5 A 24,5 -
24.0
24. 0 A 24.0 - 24.0 -
23.5 A
T T T 23.5 - T T T 23.5 - T T T T T T
610 615 620 660 665 670 710 715 720 765 770 775



m=825, FV0=0

26.0

25.5

25.0 -

24.5

24.0

23.5 -

—o—

MW

825

T
830

T
835

m=940, FV0=0

26.0

25.5

25.0 A

24.5 A

24.0 -

23.5 A

—0—
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940

T
945

950
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P3-11

BfiE) | FEBIETK (D) | E#=E (EH/) | XK R

07:20 294 150.0 FB| {Ri&@07:20 Bz (FAFERSE)
07:45 294 150.0 FA| 1{Ri%e07:45 Bz (RAHERESE)
08:45 294 150.0 |Z=| 1Ri&e08:45 Bzl (kA{EEEE)
09:40 294 150.0 (2 =| 1Ri%@09:40 Bz (kBERSE)
10:20 294 150.0 (Z=| 1Ri%@10:20 B3 (GkABERSE)
11:05 294 150.0 BE| Rige11:05 Ba) (REAEHSE)
11:45 294 150.0 S| 1BRige11:45 Bh (REERSE)
12:20 294 150.0 BE| Ri%e12:20 B (RF{EREEE)
12:50 294 150.0 el Rige12:50 Bal (REAEHSE)
13:25 294 150.0 S| Rige13:25 BHal (REAEHSE)
14:15 294 150.0 BE| Ri%e14:15 Bz GGREAERSE)
15:15 294 150.0 RS {Rige15:15 Bzl (REERSR)
16:05 294 150.0 RE| {Ri&e16:05 Bz (REERS)
249t 3822.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 6.0

TERRHER 2 STEEART (191.0 :

ZRIALBRERE153.0 ml.

H[ERECE (2580. 0 vs 3523.0) R

153.0), AlEEHT—@ % XA HS
AEREEC (2580.0) H5i%EEC (2000.0) RELK KA, /T




P3-11_0, Day=47 (2025-05-19)

R S et et el
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

—_
[{=)
o
o

00}

w

(=2}
T

N

o

o

o

100 A 1560 429

50 4180 12 - 1000
60 80

Warning: lcol [FVI',| "FVO’'] missing

(v — ME
200 - FRV

-

#
HER

Eiiea——ss -k -3
1l

100 A I I

50 A

--i----l---l ---------------------------- 25 .,

FRV (ml plant-1)

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @50 01:45: ET=1496 Fg=1986.0 Ro=555.0

300
- 2000

200

- 1000
100 -

ET (ml/hr/plant)

p—— @ © D
0 — V=N V=N —

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
w0l lEZE B2 B B | W | M| B | m | % | m | |/ | m | % | m | k|| s | | 6| 6s]| s

]
ByEt @47 19:06: ET=1682 Fg=1836.0 Ro=nan o o ‘ o—e - 2000

S S P S B o R

- 1000

ET (ml/hr/plant)

0 [ 1 2 | 3 [ a5 6] 789 JoJii[i12]@]114]15[16][17[18] 19207212723

30012z |2= %[ A | PH | BB | BB [ |25 |2= |2z B | B | K | B5 [BF | BF | B | B5 [ BE | BF | 5 | B | HR
1

ByWoFv @D50 01:45: ET=1429 Fg=1950.0 Ro=509. 0

- 2000

- 1000

ET (ml/hr/plant)

o —o

M
=
=
=
=

MR 12z (2c |2z | B [ | B5 | B | BF | i5 | BB | K5 | 5 [ FE | BE | R [ B

NS ETIEZIE

0.6
0.4+

0.2~

2000 3

—_— 4
o | _obs
PPFD_obs

1500 ~

1000 ~

500 -

RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



21.

21,

20.

20.

20.

20.

21,

21,

21.

21,

20.

20.

22.

22.

21.

21.

21.

21.

21.

22 -

21 A

20 -

19

M_E

T T T
600 800 1000

m=610,m FV0=0

25 A

00 ~

75

50 A

25 A

00 ~

—&— M_E

6%5 650
m=770,m FV0=0

75 A

50 A

25 A

00 ~

75

50 -

—&— M_E

755 7é0
m=965,n FV0=0

-&— M_E

970 975

20.

19.

19.

19.

19.

18.

21.

21.

21.

20.

20.

20.

20.

21.

21.

21.

21.

20.

20.

m=450, FV0=0

00 A

75 A

50 -

25 -

00 -

75 A

M_E

T
450

455 4é0
m=650,n FV0=0

——

M_E

6%5 660
m=810,n FV0=0

75 1

50

25 -

00 -

50 -

——

M_E

810

815 820

27 A

26

25 A

24 -

23 A

22 -

M_W

600 800

1000

m=500, FV0=0

20. 8

20. 6

20. 4 -

20. 2 -

20. 0 -

19. 8 ~

——

M_E

500

565 5%0
m=685,n FV0=0

21.6

21. 4 -

21.2 -

21.0

20. 8

20. 6 -

——

M_E

6é0 665
m=855,n FV0=0

22.00 A

21.75

21. 50 A

21.25

21.00 A

20. 75 A

M_E

855

8é0 8é5
m=450,n FV0=0

25.0

24.5 -

24.0

23.5

23.0 -

22.5

—o—

M_W

450

455 460

m=560, FV0=0

21.0 A

20. 8 A

20. 6

20. 4 -

20. 2 A

20.0 A

M_E

5é5 5;0
m=730,n FV0=0

21.75 A
——
21.50
21. 25 A
21.00 A

20.75 A

20. 50

20. 25 -

M_E

7é5 7&0
m=915,n FV0=0

22.0 A

21.8 A

21.6 -

21.4 -

21.2 A
——

21.0 -

M_E

950 9é5
m=500,n FV0=0

915

26.0

——

25.5 A

25.0 -

24.5 -

M_W

500 505 510




26.

25.

25.

24.

24.

23.

26.

26.

25.

25.

24.

24.

26.

26.

25.

25.

24,

m=560, FV0=0

—— MW

560

T T
565 570

m=730,m FV0=0

—— MW

730

T T
735 740

m=915,m FV0=0

—— MW

915

920 925

26.

25.

25.

24,

24,

26.

26.

25.

25.

24.

27.

26.

26.

25.

25.

24.

m=610, FV0=0

——

M_w

610

T T
615 620

m=770,m FV0=0

——

M_W

770

T T
775 780

m=965,m FV0=0

—0—

M_W

965

970 975

26.

26.

25.

25.

24,

24.

26.

26.

25.

25.

24.

m=650, FV0=0

—0—

M_W

650

6%5 6é0
m=810,m FV0=0

——

M_W

810

815 820

26.

26.

25.

25.

24.

27.

26.

26.

25.

25.

24.

m=685, FV0=0

——

M_w

685

6é0 6é5
m=855,n FV0=0

—o—

M_W

855

860 865
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P3-11

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:40 300 150.0 RE| {Ri&e07:40 Bzl (REERS)
08:20 300 150.0 (Z=| 1Ri%e08:20 Bz (kABEREE)
09:55 300 150.0 (Z=| 1Ri%@09:55 Bzh (KABERESE)
11:20 300 150.0 S| Rige11:20 Bz (REAERE)
12:35 300 150.0 RS Ri%e12:35 Bz (REAERESR)
13:45 300 150.0 |Z=| 1Ri&e13:45 Bz (RBEEE)
14:45 300 150.0 |Z=| 1Rige14:45 Bz (RPBEREE)
23t1]2100.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

MEBEHERE STMAAEARS (195.0 : 156.0), AIREHTF—@E XAH4
ZRIALBRERE156. 0 ml.
AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=46 (2025-05-18)

T e g g e S S B S g

100 A

50

(¢
200 A

100 A

VI, VB@FRV, ET - VI, VO, FVI, EVO, FRV, ad jFRV, ET

1200
012

80
Warning: lcol [FVI',| "FVO’'] missing

- 1500
- 1000

60 L 500

. v
FRV

— M_E

maxM

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @D50 01:45: ET=1554 Fg=2100.0 Ro=500. 0

i 3000

*—o L 2000
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I
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200

100 -

ByWoFv @D50 01:45: ET=837 Fg=1050.0 Ro=278.0

- 2000

B e S R

1.0

& o - 1000

21 22 23

0.8

B B[z W [ [ || I|IZT|Z2|25| B | B | ZR|Z5 |35 |SE|Z5|Z5|25 (25 (25 (%5(%F

0.6

0.4+

0.2~

1806 4

—_— 4

—@— PPFD obs

[ ] | _obs

U
80 -
60
— RH
40 - ([ RH_obs
& o RHo obs
2. O ‘
e v {

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



19.

19.

19.

19.

18.

20.

20.

20.

20.

20.

19.

25.

25.

24.

24.

23.

m=435, FV0=0

T T T T
400 600 800 1000

m=670,m FV0=0

—0— ME

T T
440 445

m=740,m FV0=0

670 6;5 6é0
m=935,n FV0=0

—o— ME

ﬁ

935 9&0 9&5
m=585,n FV0=0

ey

-— MW

W

660 860
m=670,n FV0=0

585 590 595

675 680

m=485, FV0=0

19. 50

19. 25 -

19. 00 -

18. 75

18. 50

18. 25

485

450 455
m=805,n FV0=0

20. 2 -

20.0

19. 8 ~

19.6

19. 4 ~

19.2

—0—

805

8%0 8{5
m=435,n FV0=0

24.0

23.5

23.0 A

22.5

22.0 A

21.5 -

—0—

1000

435

440 445
m=740,m FV0=0

26.0

25.5

25.0

24.5

24.0

——

19.6 -

19.4 4

19. 2 ~

19.0 ~

18. 8 4

18.6 A

20. 50 A

20. 25 A

20. 00 A

19.75

19. 50

19. 25 -

25.

25.

24.

24,

26.

25.

25.

24.

24.

m=585, FV0=0
—e— MNE
585 590 595
m=885,m FV0=0
—e— MNE
885 890 895
m=485,m FV0=0
—— MW
485 490 495
m=805,m FV0=0

- MW

§

805 810 815




m=885, FV0=0

26.0 -

25.5 -

25.0

24.5 -

24.0 -

23.5

—0—

M_W

885

T
890

T
895

m=935, FV0=0
—— MW

26.5
26.0
25.5 A
25.0 A
24.5 A

T T T

935 940 945




